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Det is alternating multilinear function on the
rows and columns of a matrix



a 2 91
a se b 37 b4gtsaksbf.se

2 she

4g 4h 41

213314
9 213114715

g h i 121

1 f f if
5

g h i

1 1 111 11y4 22 2

f tax
y j g z x z y



y

det AB detA detB detA detA

p260 4.24 AA I

det AA
1 detI

data HAD 1

def A

4.25 A QBQ
data de QBQ

detQ detB det Q

detQ det Q 1
detB

4.26 AAT I

detCA A detI

detA detAT 1

detA dot A

detA 1 detA 1
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a A is 10 10

b A is not invertible as 4 0 is an

eigenvalue
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Thm A exists 4 0 is not an
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i e X is an eigenvector for eigenvalue 1
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1 1
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Hence 1 2 is defective

Hence A is not diagonalizable
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